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Rubric
a. 1 point
b. 1 point
©. 2 points
d. 1 point for interquartile range
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Possible answer:

The dot plot displays the frequency of
every value in the data set and the
histogram groups the values into four
equally sized intervals and displays
the frequency of each interval. The
dot plot shows there are peaks at

2 hours and 6 hours while the
histogram shows there is a peak for
the 2 to 3 hours interval.
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Rubric

a. 2 points

b. 2 points

c. 1 point for comparison; 1 point for
explanation
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Name: Date. Class
6.SP.4
SELECTED RESPONSE 4. Which bax plot comectly dispiays the data

Select all correct answers.

1. Which values are needed to display a
set of data using a box plot?

(A Mean

(B Median

(© Mode

(D) Mean absolute deviation
(E> Lower quartile

(B> Upper quartile

@ Greatest value

(H) Least value

Select the correct answer for each
lettered part.
2. If the data shown is displayed using
a dot plot, how many dots will go over
each value?

set shown?

2,5,7,2,11,13,5,7,1,10,10,2,3, 5,
1,11
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5. What is the median of the data shown in
the histogram?
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Select the correct answer.
3. The amount of rainfal, in inches, for one 1

town is shown. If this data is displayed
using a histogram and equally sized

intervals, which intervals can be used? Number of Packages
13,25,06,12,1,13,01,05,1,26, @0 © 15
18,14,2

®1 @2

(@ 010 0.9 inches and 1 to 1.9 inches

(B 0o 0.5 inches, 0.6 to 1.5 inches, and
1610 3inches

(© 0to 1inches, 0.5 to 2 inches, and
1510 3inches

(D 0to 0.9 inches, 1 to 1.9 inches, and
210 2.9 inches
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CONSTRUCTED RESPONSE

6. Oliver owns a bicycle store. The number

of bikes that he sells each month for
18 months is shown. Use a dot plot to
display this data. What number of
bicycles sold per month was the most
frequent? Use the results from the dot
plot to explain

5,11,12,4,9,5,11,4,10, 11,4, 5,10,

14,12,3,5,9

7. Jennifer is having her annual party next

week. The number of people that have
attended her last 12 parties is shown
20,19, 16, 22, 24, 18,17, 22,19, 22,
18,18

8. Jamie asks his classmates how many

hours of television they watch daily. This
data is shown.

2,6,4,1,0,3,6,2,3,5,3,1,6,0,4,6,
272,25
a. Use a dot plot to display the data.

b. Use a histogram with four equally
sized intervals to display the data.
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Explain how to find the median of the
data set.

Explain how to find the upper and
lower quartiles of the data set.

Use parts a and b to display the data
using a box plot.

c. Compare the shape of your graph
from part a with the shape of your
graph from part b. Explain why the
shapes are different

What s the interquartile range of
the data?
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6.SP.4 Answers

1.B,E.F,G.H
2.2 3dots

b. 0dots

c. 2dots

d. 1dot
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The value with the highest number of
dots above itin the dot plot is 5. So,
5 bicycles per month was the most
frequent number of bicycles sold.
Rubric

2 points for graph;

1 point for most frequent

First, order the values from least to
greatest.

16,17, 18,18, 18, 19,19, 20, 22, 22,
22,24

Since there are two middle values, the

median is the average of the 2:
1941

=19 people

The upper quartile is the median of the
upper half of the data. The upper half
of the data is 19, 20, 22, 22, 22, 24
The median of this half is
22+22
2
The lower quartie is the median of the
lower half of the data. The lower half of
the datais 16, 17, 18, 18, 18, 19. The
median of this half is

"’;“‘:m people.

=22 people.
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The interquartile range is

22-18 =4 people.





